EAGRAROBREERT — 2 N— ABISH —F 201911 A9H (&) SEER3H

mz)%ﬁ?,u 2BV X Y7R3EE (BE) (FE) TE ESEE e
[A&£] 1 7 15,000,000 § 2 7% :6,000,000 § 3 3 :3,800,000 . 4 3% :2,300,000 ™ . 5 3 :1,500,000 M
& %B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
. S ae J 1| B :21. = . . FEE (Em)
1 4| 7 ATHAT v — "3 56.0 1(2_1)4 2 B01101.0) 1 (4_520) BRSADILY
R4 IxATv— B:Y—AX T3 J—YTr—LA
3 | C. 233> 1:21.5 5-5 32.8100.1| 2 504 | =iEtE (35H)
oMl e | PIVY—/ # 56.0 (1/2) © | @ GUET-L.L-v2y
L:wy)EdvEk B:T7AVIELT AR
3 2 woF 92754 [B] 4 E%;E%% 1(:32/]4)6 - R R ig? %gﬁﬁtg;ﬁ)
LTANNTTF Y- B:vTysa—R BEZ %Y K
. > KEFHRIR : - FIINAR (i)
a1 |77 22 4| 25 1.(211).8 7-7 32.9| 9.7 | 4 (4:33 %Eéa
L:ANXRTIVG BEATIR=FT 1 — KALHS
. 4 4 | C.IX=I 1:21.9 3-3 33.4] 952 | 3 452 | REEZAI ()
5/5|5| 71A7 143K 57.0 (1/2) ) rE/UF&ﬁ:
L:gVRNTAZ2T BT b=XA X7 b NS
N = H & :22. — . . RMEED (ER
6 3 k=t US 4 4 s 1 (252)8 3-4 34.2 | 85.0 6 (4_5;; Phies
Rib—t>TIA b B:b—toFII— RS IXF1T7—L4
= — . = it 5 | t&ILSREL 1:23.9 5-5 35.2| 72.4 | 5 472 | MARLE (RR)
7177 | Z=Hh19 7 — g 57.0 %) (o) | R
L:Tv TRy b B:TUT2YR B IE
@ 21 L
E») 45.6-34.1
NA>ZA L | 12.9-11.5-11.4-11.5-11.1-11.5-11.5
® I—F—@EBIERL
13—=7—
2al=5"=
== 2-4(3,5) (6,7)1
43—+ — 2=4,5,3(6,7)1
[ N5
B 4 1909 714K 4-6 130 B E 4-6 190M EE 2-4-6 2,660M
B B 4 110 2-4 1,060M B H 4-6 340M 3B 4-6-2 6,460
6 120 2-6 1,150H

ARICOVWTRDTEEERROODE. TR LI,



